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QUESTION 1

Examine this command and its partial output:

LSNRCTL> start LISTENER 1
Listening Endpoints Summary...
(DESCRIPTION= (ADDRESS= (PROTOCOL=tcp) (HOST=host0l.abc.com ) (PORT=1562)))
Services Summary...
Service " DBOl.abc.com " has 1 instance(s).

Instance " DBO1l ", status UNKNOWN, has 1 handler(s) for this service...
The command completed successfully

Why does the DBO1.abc.com service show unknown status?

A. The listener does not listen on the default port 1521.

B. The SID_LIST_LISTENER section is missing in the LISTENER.ORA file.
C. The service is dynamically registered.

D. The service is statically registered.

E. The LOCAL_LISTENER parameter list does not contain LISTENER_1.

Correct Answer: B

QUESTION 2

Which two are true about complete and incomplete recovery? (Choose two.)

A. Uncommitted transactions will be rolled back after complete recovery completes.

B. The database must have FLASHBACK enabled in order to perform incomplete recovery.

C. Uncommitted transactions will be rolled back after incomplete recovery completes.

D. Incomplete recovery is possible only when the database is open.

E. Only incremental backups can be used to roll forward the database while performing complete recovery.

Correct Answer: AE

QUESTION 3

In a database, the default temporary tablespace is TEMP and USER1\\'s default tablespace is DATA. Examine these
parameters:
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NAME TYPE
TEMP_UNDO_ENABLED boolean
UNDO_MANAGEMENT string
UNDO_RETENTION integer
UNDO_TABLESPACE string
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VALUZ
TRUE
AUTO
900
UNDOTBS1

Which tablespace stores UNDO generated by USER1\\'s DML on temporary tables?

A. DATA

B. SYSTEM

C. SYSAUX

D. TEMP

E. UNDOTBS1

Correct Answer: D

QUESTION 4

Which two are true about incomplete recovery? (Choose two.)

A. Incremental backups cannot be used to roll forward the database while performing it.

B. Uncommitted transactions will be rolled back after it completes.

C. Itis possible only when the database is in MOUNT state.

D. The database must have FLASHBACK enabled in order to perform it.
E. Only RMAN backupsets can be used to restore a database as part of it.

Correct Answer: DE

QUESTION 5

Which three statements are true about an spfile? (Choose three)
A. It contains only static initialization parameters.

B. It is the first file processed at instance startup.

C. It can be edited by SYS when the database instance is shut down.
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D. It must exist for a database instance to start.

E. It can be used to create a pfile.

F. It contains initialization parameters whose values can be changed using the ALTER SYSTEM command.

Correct Answer: DEF

Reference: https://oracle-base.com/articles/9i/persistent-initialization-parameters
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